Kerro desimaalit kymmenen voimalla

10, 022 x 1000000 =

10, 606 x 100000 =

Paivimaara: Pisteet:

9,431 x 10000 =

4,471 x 10 =

4,065 x 10 =

2,408 x 10000 =

3,046 x 10000 =

1,741 x 1000 =

8, 833 x 1000000 =

10,103 x 10 =

3,956 x 100 =

4,763 x 10 =

7,905 x 1000000 =

8,092 x 100000 =

8,427 x 10000 =

3,753 x 10 =

7,361 x 10000 =

6,024 x 100 =

2,245 x 10 =

6, 305 x 100000 =
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Kerro desimaalit kymmenen voimalla

10, 022 x 1000000 = 10022000

10, 606 x 100000 = 1060600

4,065 x 10 = 40.65

2,408 x 10000 = 24080

3,046 x 10000 = 30460

1,741 x 1000 = 1741

8, 833 x 1000000 = 8833000

8,427 x 10000 = 84270

3,753 x 10 =37.53

7,361 x 10000 = 73610

Paivamaara: Pisteet:

9,431 x 10000 = 94310

4,471 x 10 =44.71

10, 103 x 10 = 101.03

3,956 x 100 = 395.6

4,763 x 10 = 47.63

7,905 x 1000000 = 7905000

8,092 x 100000 = 809200

6,024 x 100 = 602.4

2,245 x 10 = 22.45

6, 305 x 100000 = 630500
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